Name: ​_______________________________________  Date: _______________  Per: ______________

Review for Test 102
You must show all your work to get credit for this review.

Graph the following inequalities:
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Write an inequality for each graph:

	3)  


	4)  






Solve and graph, show all steps in solving:

	5)  9 > x + 4 
	6)   –4n < 0
	7)  
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	11)  2(3b – 2) < 4b + 8
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	13) 3x – 2 < 2y, when y = 5.


Solve the following formulas or literal equations for the variable given:
14)  Solve 
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17)  2x + y = 8, solve for y 




18)  x – 3y = -12, solve for y
Write and Graph:

	19)  Write and graph an inequality for the situation:

Your age, a, must be at least 17 years to see an R-rated movie.

Inequality: ____________________________

Graph: 


	20)  Write and graph an inequality for the situation: 

The number of laps he runs in a minute, r, can be no more than 0.7
Inequality: ____________________________

Graph: 



	Follow the directions for #21 - #24
	

	21)  Which answer is NOT a solution of the inequality:  
-5 – 2x > 3
A. -5         B. -8         C. 0        D. -100

Show your work to prove the number you chose is NOT a solution.
	22)  Set up and solve this problem using an inequality, be sure to graph your answer.  The carnival charges $5.00 admission plus $1.50 per ride.  If Tom wants to spend no more than $20, how many rides can he take?


	23)  Set up and solve using an inequality: Jamie is choosing between two video store memberships.  Netflix costs $90 a year.  Vulcan Video charges $15 for a membership plus $3.00 per rental.  For what number of rentals is Netflix less expensive?


	24)  Set up and solve using an inequality: Robert has $52 and wants to buy juice drinks for his soccer team. There are 16 players on his team. How much can each drink cost so that Tyrone can buy one drink for each person?



Check your answers:
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5)  5 > x or x < 5 
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11)  b < 6

12)  x ≥ 5

13)  x < 
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21) C, -5 – 2(0) > 3 is not true
22) x = number of rides, 

$5.00 + $1.50x ≤ $20.00, 

x ≤ 10, Tom can ride {0, 1, 2, 3, 4, 5, 6, 7, 8, 9, 10}
Graph not shown
23)  x = number of video rentals

$90.00 < $15.00 + $3.00x

X > 25, Netflix is cheaper than Vulcan for any number of rentals over 25.
24)  16x ≤ $52.00

X ≤ 3.25, Drinks can cost any amount $3.25 or under.
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